
नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

सं ाओं के  ितशत की गणना कर 

78 × 60% = ________ 75 × 50% = ________

95 × 70% = ________ 77 × 70% = ________

93 × 50% = ________ 36 × 20% = ________

84 × 80% = ________ 99 × 30% = ________

96 × 90% = ________ 69 × 40% = ________

48 × 20% = ________ 25 × 30% = ________

36 × 50% = ________ 40 × 20% = ________

40 × 50% = ________ 15 × 60% = ________

31 × 60% = ________ 92 × 60% = ________

77 × 80% = ________ 34 × 80% = ________
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नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

सं ाओं के  ितशत की गणना कर 

78 × 60% = 46.8 75 × 50% = 37.5

95 × 70% = 66.5 77 × 70% = 53.9

93 × 50% = 46.5 36 × 20% = 7.2

84 × 80% = 67.2 99 × 30% = 29.7

96 × 90% = 86.4 69 × 40% = 27.6

48 × 20% = 9.6 25 × 30% = 7.5

36 × 50% = 18 40 × 20% = 8

40 × 50% = 20 15 × 60% = 9

31 × 60% = 18.6 92 × 60% = 55.2

77 × 80% = 61.6 34 × 80% = 27.2
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